eds 000 “3/1C"

electrorive systems (495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru

15 :TE 1 | 224
i —1-‘—“@ Frcten 'i] )
%17——-— i B A R - e -
dT = [, | mooxaz
‘\I I|- a0 he
33 210_| OUTPUT
207
LF
| F L .
140 20 |
RERNECE
N - EAI
s e s
L
5
M..FD
w--ED M...FD M...FA
J -
] |0l |Aa| H |HF | L |AD| @ |LF| @ | R |AD| R |AD

CB802/3 |S3 |M3S 195 | 347.5 | 3445 | 7425 | 142 | 139 | 8385 | 146 160 | 158 | 160 | 142
C802/3 |1S3 |MiL 195 | 3475|3445 | 7745 | 142 | 146 | 8655 | 153 160 | 158 | 160 | 142
CB0D2/3 |S4 |M4 258 | 379 | 376 8825 | 193 | 180 | 9915 | 196 | 226 | 210 | 217 | 193
CB02/3 |S4 |M4LC | 258 | 379 | 376 (9175 | 193 | 188 (10165 204 | 226 [ 210 | 217 | 193
C802/3 |S5 |M5S 310 | 405 | 402 | 969 | 245 | 208 | 1109 | 238 | 266 | 245 | 247 | 245
C802/3 |S5 |MS5L 310 | 405 | 402 | 1013 | 245 | 224 | 1153 | 254 | 266 | 245 | 247 | 245
c804 |S1 |M1 138 | 319 | 316 |7335| 108 | 133 | 7945 | 136 103 | 135 | 124 | 108
c804 |52 |M2S 156 | 328 | 325 | 7615 119 | 137 | 8325 | 141 120 | 146 | 134 | 118
c804 ([S3 |M3S 195 | 3475|3445 | 8055 | 142 | 142 | 901.5| 149 160 | 158 | 160 | 142
c804 |[S3 |M3L 195 | 3475|3445 8375 | 142 | 149 | 9285 | 156 160 | 158 | 160 | 142
cs04 |S4 |M4 258 | 379 | 376 | 945.5| 193 | 183 10545 201 226 | 210 | 27 | 193
C804 |S4 |M4LC | 258 | 379 | 376 |980.5) 193 | 191 |10795| 209 | 226 | 210 | 217 | 193




eds 000 “3/1C"

electrorive systems (495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru

P 320
o = .
15 | 110 I
| | \\I g
E ) S i1 i L 1
|__ | & f
\‘ JF M20xd2
ﬁ B0 hE
T 0 ll:
: ; | ; - OUTPUT
N3
33 210_| . il 28 g
277 arg
440 154
A (Pe3)
M
M2 Hi 4

A
See=rh
!

[N
f=—y

.~
o
|

, M M1 | M2 N N1 N2 | N3 N4 X P Ji<o)
C 80 2/3 [ P80 19 | 218 | 6 | 200 | 165 | 130 | — |[Mi0x12| 4 533 | 135
C 80 2/3 | P90 24 | 273 | 8 | 200 | 165 | 130 | — |[Mi0x12| 4 533 | 135
C 80 2/3[P100 28 | 313 | 8 | 250 | 215 | 180 | — |[M12x16] 4.5 | 543 | 139
C802/3[P112 28 | 313 | 8 | 250 | 215 | 180 | — |[M12x16] 4.5 | 543 | 139
C 802/3 | P132 38 | 413 | 10 | 300 | 265 | 230 | 16 14 5 | 5795 | 141
C 80 2/3 | P160 42 | 453 | 12 | 350 | 300 | 250 | 23 18 6 | 635 | 154
C 80 2/3 | P180 48 | 518 | 14 | 350 | 300 | 250 | 23 18 6 | 635 | 154
C802 |P200 55 | 593 | 16 | 400 | 350 | 300 | — [M16x25] 7 | 660 | 176
C802 |P225 60 | 644 | 18 | 450 | 400 | 350 | 25 18 6 | 7055 | 178
C804 P63 1 | 128 | 4 140 | 115 | 95 | — | M8x19 | 4 | 5765 | 138
C804 [Pt 14 | 163 | 5 160 | 130 | 110 | — | M8x16 | 45 | 5765 | 138
C804 |P80 19 | 218 | 6 200 | 165 | 130 | — |m10x12| 4 506 | 140
C804 P90 24 | 273 | 8 200 | 165 | 130 | — |mioxi2| 4 596 | 140
C804 |P100 28 | 313 | 8 250 | 215 | 180 | — |M12x16| 45 | 606 | 144
c804 |P112 28 [ 313 | 8 250 | 215 | 180 | — |mi2x16| 45 | 606 | 144
C804 |P132 38 | 413 | 10 | 300 | 265 | 230 | 16 |[MI12x16| 5 | 642.5 | 146




OOO “3nc”
(495) 979-59-00

electro drive systems
(901) 519-59-00
eds@eds-privod.ru
C 80...HS
A a0
n 140 B E
15 | 10 8 _ F4) F3 22k
8| E—ft-—1---1 m— ——s g -
. =t
| = E a{')'m M20xd2
-!-
LI |2 OUTPUT
@ =
15,110, AN -
E= (o) 2
gl -F—E- o iy ST | T -
/R il
o 0w ‘ INPUT
320 |
380
4] | B A B - F F1 F2 | F3 | F4 v o)
C802 7185 | 468.5 | 110 42 45 12 10 90 |M12x28| 154
C803 |HS 7185 | 468.5 | 110 42 45 12 10 90 |M12x28 | 154
C804 666.5 | 476.5 | 50 24 27 8 2.5 45 | MBx19 | 141




